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Subject: Missing Series and Quadratic Inequalities
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Directions (1-5): FH@fafad T&m aet usi & vearasd g (7) & RIM R T A 3

?

Q1.711,723,747,783,831, 891, 7
(a) 945

(b) 963

(c) 1005

(d) 1275

(e) 1260
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Q2.13,13,32.5,130,715,7?

(a) 5420

(b) 1550

(c) 5005

(d) 2055

(e) 4520
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Q3.16,17, 15,18, 14,7

(a) 10

(b) 17

(c)18

(d) 19

(e) 19 ¥ PIE T
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Q4. 144, 104, 68, 42, 25,7
(a) 14.5

(b) 19.6

(c)12.5

(d) 13



(e) 8.5
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Q5.13,29,50,81,127,193,7?
(a) 204

(b) 221

(c) 254

(d) 268

(e) 284
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Directions (6-10): fo€ 7T g Ifte=ur 1 3R 11 fem-
.4g° +8q=4q +8

%. II.p*+9p=2p-12

(a)qﬁp,qﬁa@%.

(b) T p, q A BT 8.

() Tf& p. qob TR B.

()R pAT A q P R T g T TIT 3.

()IRE pAT A q P RIR 2 AT g I BT &,
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.6p2+5p+1=0
2 = -
Q7 II. 20g° +9q=-1

(a)qﬁp,qﬁa@%
(b) T p, g ¥ BT B
(C)U%p,q%FW%.
(AR pAT A qF RIER 8 TT g J IST 3.
()T pATdl q & RISR g T g T BT §.
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.3p>+2p-1=0
2 _

. I.2g°+7q+6=0
(a)qﬁ'p,q@fa@%
(b) A& p, q A BIET B,
()Tl p, qF RTR g,
()T pA A q P RER AT gV TSI 3.
(@) pAT A qF RS & T g I BT 3.
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I.3p?+15p=-18
ILg°+7q+12=0

9.
g)zﬂ%p,q@fa@%
(b) T p, q A BT 8.
(C)Zf%p,q%W%.
(d) T p T q P RIR 8 U g TS 6.
(@) pA A qF RS & T g I BT 3.
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N

LLp=
1.9g°-12q+4 =0
Q10. k a~

(a)qﬁp,qﬁa@%
(b) T p, g ¥ BT B
(c) Tfd p, g SRR 3.
()R pAT A qF RIER 8 AT g J IST 3.
()T pTAT A q P RISR @ AT g A BT &,
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Directions (11-15): FAfRad T 4@ # Usam® 8 (7) & RIM W &1 A ST

Q11. 121, 144, 190, 259, 7?7, 466
(a) 351

(b) 349

(c) 374

(d) 328

(e) STH ¥ Bl g1
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Q12. 8, 64, 216, 512, 1000, 1728, ?
(a) 4096

(b) 2744

(c) 3375

(d) 2197

(e) 4913
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Q13. 3, 4, 10, 33, 136, 685, ?
(a) 3430

(b) 4802

(c) 5145

(d) 4116

(e) 5488
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Q14. 16, 12, 18, 40.5, 121.5, 455.625, ?
(a) 2050.1125

(b) 2050.2125

(c) 2050.3125

(d) 2050.4125

(e) 2050.5125
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Q15. 4, 18, 48, 100, 180, 294, ?
(a) 448



(b) 424

(c) 436

(d) 460

(e) 412
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S1. Ans.(b)
Pattern is
+12, +24, +36, +48, +60, +72
L 7=891+72

Sol. 763

S2. Ans.(c)

Pattern is

w1, = 2.5, x4, x5.5, =7, x8.5......
A 7=T715=7

Sol. = 5005

$3. Ans.(d)

Pattern is

16 17 15 18
| A Al 4l

Solutions

+1 =2 +3
Sol.

S4. Ans.(a)
Pattern is
2x64+16=144
3x32+8=104
4x16+4 =68
CxB8+2=42
6x4+1=25

7=x2+05=145
Sol.

S5. Ans.(e)



Pattern is

13\/19\/5”\/31\/”?\f3 7
+16 +21 +31 +46 +66 y

VVVVY

+5 +10 +15 +20 +25

L7=193+91
Sol. =284
S6. Ans.(b)

Lg°+g—2=0

=(qg+2)(g—1)=0
=g =-21

ILp*+7p+12=0
=(p+3)(p+4)=0
=p=-3—4

q=p
Sol.

S7. Ans.(b)
L6p°+5p+1=0
=2Gp+1)2p+1)=0

11
TPTT3T;
I.20g° +9g+1=0
=(5g+1)(4g+1)=0
11
ST
q=p
Sol.

S8. Ans.(a)



L3p*+2p—1=0
=(p+1)3p—-1)=0

sp = 1
F_EJ
IL.2g°+7g+6=0

=2q°+49+3¢g+6=0
=(g+2)(2¢+3)=0

=>qg=-2 >
1=7>73
pP>q
Sol.
S9. Ans.(d)

Lp*+5p+6=0
=>(p+2)(p+3)=0
=p=-2,—3

IL.g°+7¢g+12=0
=(g+3)(g+4)=0
=qg=-3—-4

p=q
Sol.

S10. Ans.(c)

I.p=5
I.9g> — 129 +4 =10
=(3g—-2) =0
2
=}q—§
p=q
Sol.

S11. Ans.(a)
121 144 190 2549
| 4l 4| 4|

T

4

466
4

+23 +46 +64Y +02
A~ 259+ 92

Sol. =351

S12. Ans.(b)
Pattern is

2% 4% 6% 8% 10°% 123, 14°

L7 =2744
Sol.

+115



S13. Ans.(d)

Pattern is
wl+1, x2+2, x3+3, x4+4, x5+5, x6+6
~7=68B5=x6+6
7=4116
Sol.
S14. Ans.(c)
Pattern is
16 12 18 40.5 1215 455625 ?
[ 4 4 # 4 # 4

75 x1.5 x2.25 x3 %375 %45
. ?7=455.625 x4.5

gol = 2050.3125
S15. Ans.(a)
4 18 48 100 180 294 ?
| 4| 4| 4| 4| A 4
+14 +30 +52 +80 +114 +154
l 4l 4l 4l | 4
+16 +22 +28 +34 +40
& 7=294+ 154

SO]. 7=448



